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1. Passengers are that smoking is not allowed on the train.

A) bullied B) reminded C) created D) performed
2. It's  to feel tired after such a long trip.
A) plastic B) respectful C) normal D) productive
3. The main of smartphones include calling, texting, gaming, social media and camara
shooting, etc.
A) talents B) flavors C) weapons D) functions
4. The coach requested that the athlete put more into training so as to perform better.
A) effort B) violence C) community D) slave
5. Talking on the phone loud in public transport is one of the most  and disturbing habits.
A) distant B) curious C) annoying D) passionate
6. In many parts of the world, ~ towards women's roles in society have changed a lot. For
example, now more and more women can enter the workplace rather than stay home.
A) attitudes B) scenery C) sources D) victims
7. Years of drinking has the man’s health. It’s time for him to quit it.
A) aimed B) recovered C) survived D) ruined
8. The library had ~ cookbooks on everything from Thai food to complex French macarons.
A) environmental B) fortunate C) various D) responsible
9. To prevent the spread of COVID-19, we should  crowded places.
A) treasure B) avoid C) tend D) balance
10. Lisa used to work 50 hours a week, but recently she has decidedto  and spend more time
with her family.
A) cut down B) pass away C) speed up D) throw up
11. After hearinga/an __ speech at the flag-raising ceremony, David made up his mind to study hard
and pursue his dream.
A) loose B) adjusted C) dissolved D) inspirational
12. Sam has gained a lot of weight |, so he decided to start jogging every night.
A) lately B) fruitfully C) soundly D) positively
13. Every year during the cherry blossom season, visitors from around the country  to this city to
enjoy the beauty.
A) flock B) design C) celebrate D) provide
14. There were many foreigners living inmy  when I studied in elementary school.
A) origin B) assistance C) neighborhood D) event
15.My  impression of the people in this small town is that they are very friendly.
A) seasonal B) general C) digital D) playful
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(1)

For years, athletes have been told to just focus on one thing: winning.

Olympic gymnast Simone Biles was one of the best at doing that. But on July 27, 2021, she
decidedto 16 of an Olympics event because of tremendous pressure. She walked away 17
her team had a chance to win a gold medal. It made others realize that is okay to talk about mental
health in sports.

Michael Phelps was an Olympic swimmer. He won 23 gold medals. He has always been open
about his struggle with depression. When someone is depressed, they find 18 hard to experience
happiness or joy. Depression, and other mental illnesses, can last a long time. They can also interfere
with people's lives. Phelps said that watching Biles struggle broke his heart.

Other athletes have also been talking about mental health. Naomi Osaka is a Japanese tennis
player. She left the Tokyo Olympics early. She said the pressure was 19 much to handle.

The International Olympic Committee 20  the struggles young athletes face. In response,
the organization increased its mental health resources for the Tokyo Games, including mental health

professionals and a helpline.

16. A) make up for B) look forward to C) drop out of D) come up with
17. A) even though B) ever since C) as long as D) in case

18. A) this B) that O)it D) which

19.A) so B) too C) even D) very

20. A) is aware of B) is suitable for C) is dependent on D) is confident of
(ii)

No one would go to Egypt 21 visiting one of the Seven Wonders of the Ancient World —
The Pyramid of Giza. A pyramid is a large structure with four sides at the ground level. These four
sides rise upward, slope inward, and meetata 22 . The base of a pyramid is a rectangle, and the
sides are usually triangles. The most famous pyramids in Egypt were built more than 4,500 years
ago. The pyramids of ancient Egypt served 23 tombs. Egyptian kings had themselves 24
with gold and other treasure. The kings built the pyramids partly to keep out people who would steal
the treasure. However, robbers 25  most of the Egyptian pyramids in ancient times. About 80

pyramids have been found in Egypt, but some are now only rubble.

21. A) from B) for C) without D) on

22. A) point B) field C) forest D) fork

23. A) with B) above C)to D) as

24. A) bury B) to bury C) buried D) burying
25. A) went through B) came across C) called for D) broke into

¥2F %47



o REE TR RER - BREEPERE A R (FH2A 0 £ 20 A)

A) different B) with C) making D) successful E) solves

Intelligence is the ability to learn and to deal with new situations. When a computer or
arobot 26 aproblem or uses language, it may seem to be intelligent. However, this type of
intelligence is 27  from human intelligence. It is called artificial intelligence, or AL

For more than 50 years, scientists have been trying to make a machine 28  artificial
intelligence that is close to human intelligence. So far, they have not been 29 . One reason is that
intelligence involves so many ways of 30 decisions and doing tasks. Scientists have figured out

how to make computers do some of these things but not others.

(i)

A) when B) after C)or D) amount E) later

The Nobel Prizes are named 31  Alfred Nobel, a Swedish scientist, who invented dynamite.
After the invention came into existence, he became extremely rich. And that was 32 he decided
to use the money to honor people who had a dedication to human beings. After exactly five years
after Alred Noble’s death, the first Nobel Prizes were awarded in 1901. At first, there were only five
prizes, and the prize for economics was 33 added to the list in 1969. The winners receive their
awards at a banquet in Stockholm, Sweden. Each winner takes home a gold medal and a certain
_ 34 of money. Sometimes, two or three people share a price. The peace prize is the only prize

that can be awarded to an organization 35  people.
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Are you a cat lover? Then you must hear about leopard cats, a species frequently mentioned and
specially protected in Taiwan. The Leopard cat looks similar to a domestic cat, and its picture may
give you the impression of being someone's pet. A leopard cat is smaller in size compared to the
other wild cats, and they have a carnivorous diet like other felines. In other words, leopard cats eat
meat, mostly mice and rats. The leopard cat prefers to live in a forest, but they have also been known
for living near the places where humans live. Leopard cats get the name because their spotted fur
looks like that of a leopard, and their fur colors range from yellowish-brown to silver-gray. This
beautiful fur has led to their illegal hunting in several countries. Their fur is turned into showpieces
or garments because of its leopard-like look. However, their population is still persevering in the
wild and is currently considered of Least Concern according to the International Union for

Conservation of Nature (IUCN) Red List.
$3F 0 £4F



https://kids.britannica.com/kids/article/computer/352990
https://kids.britannica.com/kids/article/robot/353723

Picture A: A Domestic Cat

Picture B: A Leopard Cat

36. What is the main idea of this passage?

A) Family cats. B) The habitat of leopard cats.

C) The fur of leopard cats. D) An introduction of leopard cats.
37. What do leopard cats eat?

A) Fruits and weeds. B) Mice and rats.

C) Rice and vegetables. D) Grains and feeding stuff.
38. Leopard cats get the name because

A) the spots on the fur B) the size of the body

C) the food they eat D) the habitat they have
39. What does a leopard cat look like?

A) A domestic cat. B) A crocodile. C) Arat. D) A mouse.

40. Which of the following descriptions about this passage is TRUE?
A) Some people keep a leopard cat as a pet.
B) The fur of a leopard cat could be different in colors.
C) The illegal hunting of leopard cats results from the decline in population.

D) Leopard cats cannot be found near the places where humans live.
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